
07

56

60

41

1201

W= 1.072 kg/m
T = 2 mm

74

56

36

1203

W= 1.018 kg/m
T = 1.4 mm

56

50

1202

W= 0.808 kg/m
T = 1.4 mm

1223

W= 1.445 kg/m
T = 1.4 mm

50

100

36

100

56

62

1205

W= 1.193 kg/m
T = 1.4 mm

36

56

74

1213

W= 0.934 kg/m
T = 1.4 mm

41.9

49

1221

W= 0.769 kg/m
T = 1.4 mm

1233

W= 0.997 kg/m
T = 1.4 mm

74

56



08

56

51
.3

1211

W= 0.868 kg/m
T = 1.5 mm

1226 W= 0.272 kg/m
T = 1.1 mm

18
.8

32.5

1217

W= 0.265 kg/m
T = 1.1 mm

38.5

18
.8

1214

W= 1.781 kg/m
T = 2.5 mm

14.1

60

60

56

69

88

1207

W= 1.303 kg/m
T = 2 mm

56

25
.2

1210

W= 0.353 kg/m
T = 1.2 mm

29
.8

51.3

1212 W= 0.406 kg/m
T = 1.2 mm

1206

W= 1.303 kg/m
T= 2 mm

88

56

50

1220

W= 0.852 kg/m
T = 1.4 mm

56

56

1227

W= 0.292 kg/m
T = 1.1 mm

38.5

18
.8

1218 W= 0.139 kg/m
T = 2.3 mm

19



09

1234

W= 1.175 kg/m
T = 2.5 mm

39.4

52
.6

1230

W= 0.883 kg/m
T = 1.4 mm

56

58

1225

W= 4.056 kg/m
T = 4 mm

36.6

80

80

1216

1229 W= 0.355 kg/m
T = 1.1 mm

W= 0.37 kg/m
T = 2mm

56

10
.6

29
.6

38.5

25
.2

69

69

1224

W= 2.970 kg/m
T = 4 mm

1219

W= 0.565 kg/m
T = 1.5 mm

50
.1

56

1235

W= 1.115 kg/m
T = 2.5 mm

41.1

42
.2

44
.6

1228

1215

8.
5

9.2

W= 0.1 kg/m
T = 1.2 mm

W= 0.652 kg/m
T = 1.4 mm

61

44.9
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100

56

62

1205

W= 1.193 kg/m
T = 1.4 mm

1222

W= 0.847 kg/m
T = 1.4 mm

56

50

1223

W= 1.445 kg/m
T = 1.4 mm

50

100

36

1233

W= 0.997 kg/m
T = 1.4 mm

74

56

56

50

1202

W= 0.808 kg/m
T = 1.4 mm

74

56

36

1203

W= 1.018 kg/m
T = 1.4 mm

36

56

74

1213

W= 0.934 kg/m
T = 1.4 mm

1220

W= 0.852 kg/m
T = 1.4 mm

56

56
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56

51
.3

1211

W= 0.868 kg/m
T = 1.5 mm

1204

W= 1.062 kg/m
T = 1.4 mm

56

76

1214

W= 1.781 kg/m
T = 2.5 mm

14.1

60

60

1221

W= 0.769 kg/m
T = 1.4 mm

41.9

49

1210

W= 0.353 kg/m
T = 1.2 mm

56

25
.2

1226

1227 W= 0.272 kg/m
T = 1.1 mm

18
.8

32.5

W= 0.292 kg/m
T = 1.1 mm

38.5

18
.8

1217

1216 W= 0.355 kg/m
T = 1.1 mm

W= 0.265 kg/m
T = 1.1 mm

38.5

18
.8

29
.6

38.5

25
.2

69

69

1224

W= 2.970 kg/m
T = 4 mm



1249

W= 0.053 kg/m
T= 1.1 mm

3.
9

14.5

1245

W= 0.279 kg/m
T= 1.2 mm

33.5

33
.5

1246

W= 0.199 kg/m
T= 1.2 mm

15
.8

27

1248

W= 0.188 kg/m
T= 1.2 mm

36
.7

24.8

1241

W= 1.049 kg/m
T= 1.4 mm

56

45

1247

W= 0.231 kg/m
T= 1.2 mm

21
.8

27.6

1244

W= 0.749 kg/m
T= 1.2 mm

12.8

61
.5

28

1214

W= 1.781 kg/m
T = 2.5 mm

14.1

60

60

26


